EREiEsL HOSE FITTING

AKJIA HYDRHULﬁ

00110

SAE100R1AT/EN 853 1SN k& &4

D FERRULE FOR SAE100R1AT/EN 853 1SN

Fmiis EXEHOSE BORE R < DIMENSIONS
PART NO. 2¥fAE DN 55 DASH A D E
1 00110-04A 6 4 11.2 21 14 27.5
2 00110-05A 8 5 127 | 215 | 15.6 28
3 00110-06A 10 6 144 | 243 18 30
4 00110-08A 13 8 18.6 28 215 34
5 00110-10A 16 10 213 | 313 | 245 37
6 00110-12A 19 12 246 | 355 | 28.7 42
7 00110-16A 25 16 30.6 | 435 | 36.3 51
8 00110-20 32 20 37.5 52 45 59
9 00110-24 38 24 44 58 51.5 74
10 00110-32 51 32 56.8 72 65 78
T . SimiAEEL A, NOTE: Match with braided fitting

Ningbo AKJia Hydraulic Co.,Ltd.

www.akjia.com



AKJIA HYDRAULIC
EREiEsL HOSE FITTING K.JIﬁ'

L
_ 03310
SAE 100 R2AT/EN 853 2SN & & 4
A B ‘ E D %_’\ E E )
FERRULE FOR SAE 100 R2AT/EN 853 2SN

FmiisS EHOSE BORE R < DIMENSIONS
PART NO. ARAE DN 55 DASH A D E
1 03310-04 6 04 11 23 | 15.7 | 30.5
2 03310-05 8 05 127 | 24 | 173 30
3 03310-06 10 06 144 | 26 | 196 | 32
4 03310-08 13 08 186 | 29 | 231 34
5 03310-10 16 10 213 | 33 | 26.2 37
6 03310-12 19 12 246 | 37 | 303 | 42
7 03310-16 25 16 30.6 | 46.7 | 38.8 51
8 03310-20A 32 20 375 | 59 | 496 | 55
9 03310-24A 38 24 44 67 56 66
10 03310-32A 51 32 568 | 80 | 688 | 72
T . SHEREEER. NOTE : Match with two braided hose fitting.

Ningbo AKJia Hydraulic Co.,Ltd.
www.akjia.com



AKJIA HYDRFILILIC

EresiEsl HOSE FITTING K.JI

L

01200A

W W T EmAREER
A E D

FERRULE FOR 2-WIRE HOSE

RS ZHOSE BORE R 3 DIMENSIONS
PART NO. QAWAZDN IFEDASH A D E
1 01200-04A 6 04 11.2 | 215 14 28
2 01200-06A 10 06 144 25 18 29.5
3 01200-08A 13 08 18.6 31 225 | 315
4 01200-10A 16 10 216 | 334 | 254 345
5 01200-12A 19 12 24.5 37 28.5 40
6 01200-16A 25 16 30.8 | 45 36 48
E1: SHREE AR, NOTE : Match with braided hose fitting.
E2. L EBSS AR, HEREBIIHiRIeERK, No.in table is Latest Design.

Ningbo AKJia Hydraulic Co.,Ltd.
www.akjia.com



EREiEsL HOSE FITTING

AKJIA HYDRHULﬁ

L

T

01200

CRWMAREER

FERRULE FOR 2-WIRE HOSE

Emits BEHOSE BORE R < DIMENSIONS
PART NO. 21AE DN #7S DASH A D) E
1 01200-04 6 04 11.2 | 21.5 14 30
2 01200-06 10 06 142 | 25 18 32
3 01200-08 13 08 186 | 31 225 34
4 01200-10 16 10 213 | 34 25.5 37
5 01200-12 19 12 245 | 37 28.5 43
6 01200-16 25 16 304 | 43 34.5 50
7 01200-20 32 20 375 | 51 42 59
8 01200-24 38 24 44 57 48 74
9 01200-32 51 32 56.8 | 70 61 78
SF1SRREELEE. NOTE : Match with braided hose fitting.
¥2.-04F-16BEERITEN , BINATARERE. Advise to replace with "A".

Ningbo AKJia Hydraulic Co.,Ltd.

www.akjia.com



AKJIA HYORAULIC

EresiEsl HOSE FITTING KJl

L
WW 00400/00401
A E D 4SP. 4SH/12-16. R12/06-16 & £ 1
FERRULE FOR4SP. 4SH/12-16. R12/06-16

FmisS EHOSE BORE R < DIMENSIONS
PART NO. ARAE DN 55 DASH A D E
1 00400-04 6 04 115 22 | 155 | 375
2 00400-06 10 06 147 | 25.5 | 183 39
3 00400-08 13 08 175 29 | 213 | 41
4 00400-10 16 10 21 | 325 | 245 | 43
5 00400-12 19 12 245 | 37 29 51
6 00400-16 25 16 31 | 46.5 | 36.5 | 615
7 00401-20 32 20 383 | 53 | 428 | 675
8 00401-24 38 24 443 | 61 | 498 | 75
9 00401-32 51 32 57 77 | 64.5 79
T 1. 5ERAEREELEIF. NOTE : Match with four spiral hose fitting.
2.-06E-16E1EEIRITEH , ENAHDAENE. Advise to replace with "D".

Ningbo AKJia Hydraulic Co.,Ltd.
www.akjia.com



AKJIA HYDRAULIC
thesizsl HOSE FITTING |éK.J|é|

ﬂ ‘ L . 00400D

4SP. 4SH/12-16. R12/06-16 & &

FERRULE FOR4SP. 4SH/12-16. R12/06-16

L
[ A= EHOSE BORE R < DIMENSIONS
PART NO. AMAEDN RS DASH A D 3
1 00400-06D 10 06 146 | 26 | 184 34
2 00400-08D 13 08 175 29 [ 215 37
3 00400-10D 16 10 212 | 33 24.8 39
4 00400-12D 19 12 2451 375 | 294 45
5 00400-16D 25 16 31 | 46.5 | 365 56
T 1. 5MUERAE RS, NOTE : Match with four spiral hose fitting.

|

E D SAE100 R13/R15 FIHWIMNKER

FERRULE FOR SAE100 R13/R15 HOSE

Fmits £ HOSE BORE R < DIMENSIONS
PART NO. 2fAE DN #7S DASH A D E
1 00621-20 32 20 433 | 60 49.2 | 885
2 00621-24 38 24 495 | 694 | 555 | 102
3 00621-32 51 32 64.5 | 86.5 | 70.7 | 108

iE - 5NBEsERELACA. NOTE : Match with six spiral hose fitting.

Ningbo AKJia Hydraulic Co.,Ltd.
www.akjia.com



EREiEsL HOSE FITTING

AKJIA HYDRHULﬁ

01400

SEA 100 R12/20-24, GB10544 R15% &£ 14

FERRULE FOR SEA 100 R12/20-24,
GB 10544 R15 TYPE HOSE

~mits E:EHOSE BORE R < DIMENSIONS

PART NO. AMAEDN #FSDASH A D 3
1 01400-06 10 06 147 | 275 | 203 39
2 01400-08 13 08 175 | 315 | 235 41
3 01400-10 16 10 21 34 27 43
4 01400-12 19 12 245 [ 39 31 51
5 01400-16 25 16 31 | 46.5 37 61.5
6 01400-20 32 20 383 | 555 | 45 67.5
7 01400-24 38 24 443 | 63.5 52 75
8 01400-32 51 32 57 78 65 79

T SWEMHEAEEA. NOTE : Match with two braided hose fitting.

Ningbo AKJia Hydraulic Co.,Ltd.

www.akjia.com



AKJIA HYDRAULIC
EREiEsL HOSE FITTING K.Jlﬁl

A

C 10411
.
) | — ] Ol AR 24 ° A HE T i 2R 5
24°| L1 UHHHWHTJ[ METRIC MALE 24° CONE SEAT L.T.DIN 3853
S1
Fmits B E B:EHOSE BORE @ESME R < DIMENSIONS
PART NO. THREAD E 2#RMfE DN #55 DASH TUBEO.D. A C S1
1 | 10411-14-04 M14X1.5 6 04 8 205( 10 | 14
2 | 10411-16-04 = M16X1.5 6 04 10 225 ( 11 | 17
3 | 10411-16-05 | M16X1.5 8 05 10 225( 11 | 17
4 | 10411-18-06 | M18X1.5 10 06 12 225( 11 | 19
5 |10411-22-08 M22X1.5 13 08 15 26 | 12 | 24
6 | 10411-26-10 A M26X1.5 16 10 18 265 ( 12 | 27
7 | 10411-30-12 M30X2 19 12 22 30 [ 14 | 32
8 | 10411-36-16 = M36X2 25 16 28 315( 14 | 41
9 | 10411-45-20  M45X2 32 20 35 37 | 16 | 46
10 | 10411-52-24 | M52X2 38 24 42 38 | 16 | 55
iE  RPSATRARE | MBTEFRENSH10412-XX-XX,
Note:NO. in table match with braided hose.P/N 10412-XX match with spiral hose.

Ningbo AKJia Hydraulic Co.,Ltd.
www.akjia.com



AKJIA HYDRAULIC
EREiEsL HOSE FITTING K.Jlﬁl

A
C 10511

7

| ‘ 2 il A1 IR gr24° A HE T E R 8
247 WL | UHHHWHTJ[ METRIC MALE 24° CONE SEAT H.T.DIN 3853
S1
RS R4 E FEHOSE BORE fEEsME R < DIMENSIONS
PART NO. THREAD E 23R DN {75 DASH TUBEO.D. A C S1
1 | 10511-14-04 | M14X1.5 6 04 6 245( 12 | 14
2 | 10511-16-04 | M16X1.5 6 04 8 265 ( 12 | 17
3 | 10511-18-04 | M18X1.5 6 04 10 265 12 | 19
4 | 10511-18-06 | M18X1.5 10 06 10 2651 12 | 19
5 | 10511-20-06 | M20X1.5 10 06 12 265 12 | 22
6 | 10511-22-08 | M22X1.5 13 08 14 31 14 | 24
7 | 10511-24-08 | M24X1.5 13 08 16 315( 14 | 27
8 | 10511-30-10 | M30X2 16 10 20 35| 16 | 32
9 | 10511-36-16 | M36X2 25 16 25 415] 18 | 41
10 | 10511-42-16 | MA42X2 25 16 30 44 | 20 | 46
11 | 10511-52-20 | M52X2 32 20 38 50 | 22 | 55
T RPRASHETRARE | IRTEEKENSHII10512-XX-XX,
Note:NO. in table match with braided hose .P/N 10512-XX match with spiral hose.

Ningbo AKJia Hydraulic Co.,Ltd.
www.akjia.com



EREiEsL HOSE FITTING

AKJIA HYDRHULﬁ

Fmiis

PART NO.

B E

THREAD E

13011-SP

T HEE SMIR L
BSPT MALE

BEHOSE BORE R < DIMENSIONS

2AFRAE DN 7S5 DASH A C S1

1 13011-04-04SP R1/4"X19 6 04 27 | 145 14
2 13011-06-06SP R3/8"X19 10 06 275 15 | 17
3 13011-08-08SP R1/2"X14 13 08 35 | 20 | 22
4 13011-12-12SP R3/4"X14 19 12 385| 20 | 27
5 13011-16-12SP R1"X11 19 12 445 | 255 36
6 13011-16-16SP R1"X11 25 16 45 | 255 | 36
7 13011-20-20SP | R1.1/4"X11 32 20 495 265 | 46
8 13011-24-24SP | R1.1/2"X11 38 24 52.5] 26.5| 50
9 13011-32-32SP R2"X11 50 32 57 | 30 | 65

EL  RPRSHETHREARE | MATEERENSHII13012-XX-XXSP,
Note:NO. in table match with braided hose.P/N 13012-XX match with spiral hose.

Ningbo AKJia Hydraulic Co.,Ltd.

www.akjia.com



EREiEsL HOSE FITTING

AKJIA HYDRHULﬁ

14211

2 H|ORF SHI M 40 ~F- 1] 07 [ 4% &5

ORFS MALE O-RING SEAL ISO12151-1

FS Emits BN E BEHOSE BORE (0):5]:2 R < DIMENSIONS
SN PART NO. THREAD E ﬁﬁ:ﬁ@ xS DASH O-RING A C S1
1 | 14211-04-04 | 9/16"X18 6 04 07.65X1.78 | 225| 9.8 | 17
2 | 14211-06-06 | 11/16"X16 10 06 09.25X1.78 | 24 | 11.2| 19
3 | 14211-08-08 | 13/16"X16 12 08 012.42X1.78 | 285 12.8 | 22
4 | 14211-10-10 1"X14 16 10 015.6X1.78 | 33.5| 155 | 27
5 |14211-12-12 | 1.3/16"X12 19 12 018.77X1.78 [ 36.5| 17 | 32
6 | 14211-16-16 | 1.7/16"X12 25 16 023.52X1.78 | 385175 38
7 | 14211-20-20 |1.11/16"X12 32 20 029.87X1.78 | 41.5 [ 17.5| 46
8 | 14211-24-24 2"X12 38 24 037.82X1.78 [ 43.5 [ 17.5| 55

i FPASATHREARE  MATEFRENSHII14212-XX-XX,

Note:NO. in table match with braided hose.P/N 14212-XX match with spiral hose.

Ningbo AKJia Hydraulic Co.,Ltd.

www.akjia.com



AKJIA HYDRAULIC
EREiEsL HOSE FITTING K.Jlﬁl

C 12611A

: |
60 - N N SN vyly P
I B AR L0B0° PR 4 T BN A 8 T 4L 4

Fmits B E BZEHOSE BORE R ~ DIMENSIONS
PART NO. THREAD E 2ffHE DN S DASH A C S1
1 12611A-04-04 G1/4"X19 6 04 2451 12 | 19
2 12611A-06-06 G3/8"X19 10 06 28 [ 135] 22
3 12611A-08-08 G1/2"X14 13 08 33 | 16 | 27
4 12611A-12-12 G3/4"X14 19 12 37.5(185 | 32
5 12611A-16-12 G1"X11 19 12 4251 205 41
6 12611A-16-16 G1"X11 25 16 435 205 41
7 12611A-20-16 | G1.1/4"X11 25 16 4551 20.5| 50
8 12611A-20-20 | G1.1/4"X11 32 20 46.5| 20.5| 50
9 12611A-24-24 G.1/2"X11 38 24 49 | 23 | 55
10 12611A-32-32 G2"X11 50 32 535 255| 70
iEL  IZRFINEHEEARA0 T , tBAlE/ BIRERESEREH.
E2 | RPASHETRARE | ATEFRRERSHIN12612A-XX-XX,
Note:NO. in table match with braided hose.P/N 12612A-XX match with spiral hose.

Ningbo AKJia Hydraulic Co.,Ltd.
www.akjia.com



EREiEsL HOSE FITTING

AKJIA HYDRHULﬁ

15611

A1 HE 7 AR L

NPT MALE

~afts 184 E E:EZ=HOSE BORE R < DIMENSIONS
PART NO. THREAD E 2#fRE DN #F2DASH A C s1
1 15611-04-04 Z1/4"X18 6 04 28 15 17
2 15611-06-06 Z3/8"X18 10 06 29 16 19
3 15611-08-08 Z1/2"X14 13 08 345 19 22
4 15611-12-12 Z3/4"X14 19 12 385 (195 27
5 15611-16-16 Z1"X11.5 25 16 46.5| 255 36
6 15611-20-20 |Z1.1/4"X11.5 32 20 50.5| 26.5| 46
7 15611-24-24 |Z1.1/2"X11.5 38 24 51 26 50
8 15611-32-32 Z2"X11.5 50 32 55 | 275 65
T RPASHETRAKE | AT ESRERSHI15612-XX-XX,
Note:NO. in table match with braided hose.P/N 15612-XX match with spiral hose.

Ningbo AKJia Hydraulic Co.,Ltd.

www.akjia.com



AKJIA HYDRAULIC
EREiEsL HOSE FITTING K.Jlﬁl

S —

16711

7 /7% SEHITTC HMBLTA ST
74 C ] ] JIC MALE 74° CONE 1ISO 12151-5 SAE J514

ST
RS B4 E B:EHOSE BORE R T DIMENSIONS
PART NO. THREAD E 2#iR#2 DN ##S DASH A C S1
1 16711-04-04 7/16"X20 6 04 26.5| 14 12
2 16711-05-05 1/2"X20 8 05 265 | 14 14
3 16711-06-06 9/16"X18 10 06 265|141 | 17
4 16711-08-08 3/4"X16 13 08 32 | 16.7 | 22
5 16711-10-10 7/8"X14 16 10 35 1193 24
6 16711-12-12 1.1/16"X12 19 12 40 | 219 30
7 16711-16-16 1.5/16"X12 25 16 4351 231 36
8 16711-20-20 1.5/8"X12 32 20 475 243 | 46
9 16711-24-24 1.7/8"X12 38 24 53 [ 275 50
10 16711-32-32 2.1/2"X12 50 32 62 | 339] 65
T RPNSHETHRARE | RATEFRREASHINL6712-XX-XX,
Note:NO. in table match with braided hose.P/N 16712-XX match with spiral hose.

Ningbo AKJia Hydraulic Co.,Ltd.
www.akjia.com



EREiEsL HOSE FITTING K.Jlﬁl

C A C_ A

HL - N i o 1l AR SCBR T

E‘ J_r_'_l_ E‘ EN METRIC FEMALE MULTISEAL
— 52 S2
20111T 20111

ERpe B8 E EZ=HOSE BORE R 5+ DIMENSIONS

PART NO. THREAD E 23A=E DN {5 DASH A C S2
1 20111-14-04T1 M14X1.5 6 04 20.5| 45 17
2 20111-16-05T M16X1.5 8 05 20 | 45 19
3 20111-16-06 M16X1.5 10 06 20 | 45 22
4 20111-18-05T M18X1.5 8 05 215 4 22
5 20111-18-06T M18X1.5 10 06 225 4 22
6 20111-22-06T M22X1.5 10 06 23 5 27
7 20111-22-08T M22X1.5 12 08 24.5 5 27
8 20111-27-08T M27X1.5 12 08 23 5.5 32
9 20111-27-10T M27X1.5 16 10 235] 55 32
10 20111-30-10T M30X1.5 16 10 25 6 36
11 20111-30-12T1 M30X1.5 19 12 28.5 6 36
12 20111-36-12T M36X2 19 12 26 7 41
13 20111-36-16T M36X2 25 16 28 7 41
14 20111-39-16T M39X2 25 16 29.5 7 46
15 20111-42-16T M42X2 25 16 30 | 85 50
16 20111-45-20T M45X2 32 20 315 85 55
17 20111-52-20T M52X2 32 20 33 9 60
18 20111-52-24T1 M52X2 38 24 33 9 60
19 20111-64-32T M64X2 51 32 35 14 75

% RPRSETRAKE , MATEAKERSE20112-50XX,
Note:NO. in table match with braided hose.P/N 20112-XX match with spiral hose.

Ningbo AKJia Hydraulic Co.,Ltd.
www.akjia.com



EREiEsL HOSE FITTING

AKJIA HYDRHULﬁ

A
=Ry ="
H / . ' / 90° 7 ffill N R S ER
| 4 | 52 90° METRIC FEMALE MULTTSEAL
- g8
20191T 20191
ERgS 1B E EX=HOSE BORE R < DIMENSIONS
PART NO. THREAD E 2%3PIf2 DN 75 DASH A C H S2
1 20191-14-04T1 M14X1.5 6 04 27 | 45 | 355 | 17
2 20191-16-05T M16X1.5 8 05 32 | 45 | 385 19
3 20191-16-06 M16X1.5 10 06 345 | 45 [ 438 | 22
4 20191-18-05T M18X1.5 8 05 32 4 40 | 22
5 20191-18-06T M18X1.5 10 06 345 4 41 | 22
6 20191-22-06T M22X1.5 10 06 35| 5 38 | 27
7 20191-22-08T M22X1.5 12 08 41 5 49 | 27
8 20191-27-08T M27X1.5 12 8 41 | 55 | 515 | 32
9 20191-27-10T M27X1.5 16 10 53 | 55 | 535 32
10 | 20191-30-10T M30X1.5 16 10 53 6 |555]| 36
11 | 20191-30-12T M30X1.5 19 12 61 6 60 | 36
12 | 20191-36-12T M36X2 19 12 61 7 64 | 41
13 | 20191-36-16T M36X2 25 16 75 7 70 | 41
14 | 20191-39-16T M39X2 25 16 75 7 72 | 46
15 | 20191-42-16T M42X2 25 16 75 | 85 | 725 | 50
16 | 20191-45-20T M45X2 32 20 91 [ 85| 85 | 55
17 | 20191-52-20T M52X2 32 20 91 9 1865 | 60
18 | 20191-52-24T1 M52X2 38 24 106 | 9 97 | 60
19 | 20191-64-32T M64X2 51 32 132 | 14 | 122 | 75
% EPRSATRAKE | MATASKERSEH20192-0CXX,
Note:NO. in table match with braided hose.P/N 20192-XX match with spiral hose.

Ninabo AK lia Hvdraulic Co- | td
NRGRO-ArHA Y GRUHE S O51=16-

www.akjia.com



EREiEsL HOSE FITTING

AKJIA HYDRHULﬁ

82 LY,

20211W
I A 2 i) AR 0T 1D 2

202117

GB METRIC FEMALE FLAT SEAT

fad T AR =] B8 E BZEHOSE BORE R~ DIMENSIONS

PART NO. THREAD E 2iM#=E DN {5 DASH A C S2
1 20211-12-04 M12X1.25 6 04 15 8 17
2 20211-14-04T1 M14X1.5 6 04 165| 85 | 17
3 20211-16-04T M16X1.5 6 04 16 8.5 19
4 20211-16-05T M16X1.5 8 05 le.5| 85 | 19
5 20211-16-06 M16X1.5 10 06 l6e5| 8 22
6 20211-18-05T M18X1.5 8 05 18 9 22
7 20211-18-06T M18X1.5 10 06 17 22
8 20211-22-06T M22X1.5 10 06 17 | 10 | 27
9 20211-22-08T M22X1.5 12 08 195| 10 | 27
10 20211-27-08T M27X1.5 12 08 185 10 | 32
11 20211-27-10T M27X1.5 16 10 20 10 32
12 20211-30-10T M30X1.5 16 10 20 11 36
13 20211-30-12T M30X1.5 19 12 2251 11 36
14 20211-36-12T M36X2 19 12 20 13 41
15 20211-36-16T M36X2 25 16 24 13 41
16 20211-39-16T M39X2 25 16 235 | 13 | 46
17 20211-42-16T M42X2 25 16 235 15 50
18 20211-42-20W M42X2 32 20 25 15 50
19 20211-45-16T M45X2 25 16 24 15 55
20 20211-45-20T M45X2 32 20 25 15 55
21 20211-52-20T M52X2 32 20 25 17 60
22 20211-52-24T1 M52X2 40 24 25 17 60
23 20211-64-32T M64X2 50 32 26 23 75

i RPSAETHRARE | MRATEFERENSHI20212-XX-XX,
Note:NO. in table match with braided hose.P/N 20212-XX match with spiral hose.

Ningbo ARJTa Hydraufic Co.,Ctd-
www.akjia.com



AKJIA HYDRHLILIC

KJIA]

EREiEsL HOSE FITTING

4

<
/
)
S2

202417

20241W
45° 3 il N IR ST i 2 E

45° METRIC FEMALE FLAT SEAT
fad T A w = B8 E BZEHOSE BORE R < DIMENSIONS
PART NO. THREAD E 2RA=E DN {75 DASH A C H
1 20241-12-04 M12X1.25 6 04 35.7 8 181 | 17
2 20241-14-04T M14X1.5 6 04 354 | 85 | 15.7 | 17
3 20241-16-04T M16X1.5 6 04 381 85 | 185 19
4 20241-16-05T M16X1.5 8 05 42 | 85 (19.7 | 19
5 20241-16-06 M16X1.5 10 06 444 8 | 205 22
6 20241-18-05T M18X1.5 8 05 406 | 9 | 183 | 22
7 20241-18-06T M18X1.5 10 06 44 20.1 | 22
8 20241-22-06T M22X1.5 10 06 43 10 | 191 | 27
9 20241-22-08T M22X1.5 12 08 46.7 | 10 | 19.8 | 27
10 20241-27-08T M27X1.5 12 08 485 10 | 215 32
11 20241-27-10T M27X1.5 16 10 59.2 | 10 | 228 | 32
12 20241-30-10T M30X1.5 16 10 59.2 | 11 | 228 | 36
13 20241-30-12T M30X1.5 19 12 66.2 | 11 | 245 | 36
14 20241-36-12T M36X2 19 12 66.2 | 13 | 245 | 41
15 20241-36-16T M36X2 25 16 783 13 | 279 | 41
16 20241-39-16T M39X2 25 16 797 | 13 | 293 | 46
17 20241-42-16T M4 2X2 25 16 79.7 | 15 [ 293 | 50
18 20241-42-20W M4 2X2 32 20 954 | 15 [ 352 ] 50
19 20241-45-16T M4 5X2 25 16 81 15 [ 30.7 | 55
20 20241-45-20T M4 5X2 32 20 94 | 15 | 338 | 55
21 20241-52-20T M52X2 32 20 94 | 17 | 338 | 60
22 20241-52-24T M52X2 40 24 106 | 17 | 36.8 | 60
23 20241-64-32T M64X2 50 32 134 | 23 | 456 | 75
T RPRASHTHRANRE | MATESRERSHYI20242-XX-XX,
Note:NO. in table match with braided hose.P/N 20242-XX match with spiral hose.

Nimgbo ARSTa Hydrautic Co- Lt
www.akjia.com



EREiEsL HOSE FITTING

AKJIA HYDRHLILIC

KJIA]

S2

202917

S2
17 20291

S2

20291W

90° 2~ ffill PN R 401 1 # &

90° METRIC FEMALE FLAT SEAT

fad T A w = B8 E BZEHOSE BORE R < DIMENSIONS
PART NO. THREAD E 2RA=E DN {75 DASH A C H
1 20291-12-04 M12X1.25 6 04 27 8 325 | 17
2 20291-14-04T M14X1.5 6 04 27 851295 | 17
3 20291-16-04T M16X1.5 6 04 27 8.5 32 19
4 20291-16-05T M16X1.5 8 05 32 | 85 | 375 | 19
5 20291-16-06 M16X1.5 10 06 3451 8 | 395 22
6 20291-18-05T M18X1.5 8 05 32 355 | 22
7 20291-18-06T M18X1.5 10 06 34.5 36.5 | 22
8 20291-22-06T M22X1.5 10 06 345 10 | 37.5 | 27
9 20291-22-08T M22X1.5 12 08 41 10 42 27
10 20291-27-08T M27X1.5 12 08 41 10 [ 445 | 32
11 20291-27-10T M27X1.5 16 10 53 10 49 | 32
12 20291-30-10T M30X1.5 16 10 53 11 49 36
13 20291-30-12T M30X1.5 19 12 61 11 54 36
14 20291-36-12T M36X2 19 12 61 13 54 41
15 20291-36-16T M36X2 25 16 75 13 64 | 41
16 20291-39-16T M39X2 25 16 75 13 66 | 46
17 20291-42-16T M4 2X2 25 16 75 15 66 50
18 20291-42-20W M4 2X2 32 20 91 15 | 80.5 | 50
19 20291-45-16T M4 5X2 25 16 75 15 68 55
20 20291-45-20T M4 5X2 32 20 91 15 [ 785 [ 55
21 20291-52-20T M52X2 32 20 91 17 [ 785 | 60
22 20291-52-24T M52X2 40 24 106 | 17 89 60
23 20291-64-32T M64X2 50 32 132 | 23 113 | 75
T RPRASHTHRARE | MATESRERSHYI20292-XX-XX,
Note:NO. in table match with braided hose.P/N 20292-XX match with spiral hose.

Ninmgbo ARSTa Hydraufic Co-,Ctd:

www.akjia.com



EREiEsL HOSE FITTING

AKJIA HYEIRFlLILICﬂ

(!
>

C A C A
Sl
1 oridlow e 1
240@L LTI 24°ﬁ I 24°E : ' [
S22 £ S2 = s2
204117 20411 20411W

Il IR SL24°HE 750 TR B it AR A

METRIC FEMALE 24° CONE O-RING L. T.ISO 12151-2--DIN 3865

e Fad T A R=] B4 E BZEHOSE BORE OBE R < DIMENSIONS
)\ PART NO. THREAD E 2#7R%E DN #5S DASH O-RING A C S2

1 20411-12-04 M12X1.5 6 04 004.5X1.5| 26 1 | S17

2 20411-14-04T | M14X15 6 04 006.5X1.5| 24 | 1.7 | S17

3 20411-14-05 M14X1.5 8 05 006.5X1.5|1275| 2 |[S19

4 | 20411-16-04T [ MI16X15 6 04 008.0X1.5] 23 [ 2.1 [ S19

5 20411-16-05T | M16X1.5 8 05 008.0X1.5] 24 | 2.1 [ S19

6 20411-16-06 M16X1.5 10 06 008.0X1.5]|275| 2 | S22

7 20411-18-04T M18X1.5 6 04 010.0X1.5]245| 15 | S22

8 20411-18-05T | M18X15 8 05 010.0X1.5] 24.5| 1.5 [ S22

9 20411-18-06T | M18X15 10 06 010.0X1.5] 25 | 1.5 [ S22
10 20411-18-08 M18X1.5 13 08 010.0X1.5]|1 295 | 2.5 | S24
11 | 20411-22-06T | M22X15 10 06 012.0X2.0]1 265 3 | S27
12 | 20411-22-08T | M22X1.5 13 08 012.0X2.0| 28 3 [ S27
13 | 20411-22-10W | M22X15 16 10 012.0X2.0] 25 3 S27
14 | 20411-26-08T M26X1.5 13 08 015.0X2.0| 275 21 | S32
15 | 20411-26-10T M26X1.5 16 10 015.0X2.0| 29 21 | S32
16 | 20411-26-12W | M26X1.5 19 12 015.0X2.0) 26.5] 2.1 [ S36
17 | 20411-30-10T | M30X2.0 16 10 020.0X2.0| 31 | 3.8 [ S36
18 | 20411-30-12T | M30X20 19 12 020.0X2.0] 33 | 3.8 | S36
19 | 20411-30-16W | M30X2.0 25 16 020.0X2.0] 30 [ 3.8 [ S36
20 | 20411-36-12T M36X2.0 19 12 026.0X2.0] 33 45 | S41
21 | 20411-36-16T | M36X20 25 16 026.0X2.0] 35 | 45 | S41
22 | 20411-36-20W | M36X20 32 20 026.0X2.0]| 33 | 45 | $41
23 | 20411-45-16T | M45X20 25 16 032.0X2.5| 37 4 [ S50
24 | 20411-45-20T | M45X20 32 20 032.0X2.5]375] 4 [ S50
25 | 20411-45-24W | M45X20 38 24 032.0X2.5| 34 4 [ S50
26 | 20411-52-20T | M52X2.0 32 20 038.0X2.5|1 385 4 | S60
27 | 20411-52-24T | M52X2.0 38 24 038.0X2.5]1385] 4 [ S60

T BPREATRENE | MATERERSHR20412-XX-XX,
Note:NO. in table match with braidqqiHBB%PA%g%ﬂ_RI—A%m%«eOMEHpiral hose.

www.akjia.com




EREiEsL HOSE FITTING

AKJIA HYEIRFlLILICﬂ

A A
— | RS A
K&Sﬁ‘ - - B "—(L
W g ~
52 H S H 7
2 S2
\‘\%o ' 2044171 96\ 20441 Z 20441W
<o "370

45° Nl YRR SL24°HE 0 T Bl iR R B

45° METRIC FEMALE 24° CONE O-RING L. T. ISO 12151-2--DIN 3865

3= fd =l e =] B E BEHOSE BORE OB R < DIMENSIONS
SN PART NO. THREAD E iA1= DN #5S DASH O-RING A C H S2
1 20441-12-04 | M12X1.5 6 04 004.5X1.5| 35.7 1 16.9 | S17
2 | 20441-14-04T | M14X1.5 6 04 006.5X1.5| 36 1.7 | 164 | S17
3 20441-14-05 | M14X1.5 8 05 006.5X1.5| 37 2 16.4 | S19
4 | 20441-16-04T [ M16X1.5 6 04 008.0X1.5]36.3| 2.1 | 16.6 | S19
5 | 20441-16-05T [ M16X1.5 8 05 008.0X1.5]39.7| 21 [ 17.3 | S19
6 20441-16-06 | M16X1.5 10 06 008.0X1.5| 41.2 2 17.9 | S22
7 20441-18-04T | M18X1.5 6 04 010.0X1.51372| 1.5 | 17.5| S22
8 | 20441-18-05T [ M18X1.5 8 05 010.0X1.5141.3| 1.5 19 | S22
9 | 20441-18-06T | M18X1.5 10 06 010.0X1.5| 43 1.5 19 | S22
10 20441-18-08 | M18X1.5 13 08 010.0X1.5145.3 | 25 | 20.2 | S24
11 | 20441-22-06T | M22X1.5 10 06 012.0X2.0| 43.4 3 194 | S27
12 | 20441-22-08T | M22X1.5 13 08 012.0X2.0 ] 48.1 3 21.2 | S27
13 | 20441-22-10W | M22X1.5 16 10 012.0X2.0 | 56.5 3 25 | S27
14 | 20441-26-08T [ M26X1.5 13 08 015.0X2.01491 | 21 | 22.2 | S32
15 | 20441-26-10T | M26X1.5 16 10 015.0X2.0161.2| 21 | 249 | S32
16 | 20441-26-12W | M26X1.5 19 12 015.0X2.0]170.1 | 2.1 | 289 | S36
17 | 20441-30-10T | M30X2.0 16 10 020.0X2.01625] 3.8 | 26.2 | S36
18 | 20441-30-12T | M30X2.0 19 12 020.0X2.0169.1 | 3.8 | 27.5 S36
19 [20441-30-16W | M30X2.0 25 16 020.0X2.0] 78.6 | 3.8 [ 31.9  S36
20 | 20441-36-12T | M36X2.0 19 12 026.0X2.0]1 694 | 45 | 27.7 | S41
21 | 20441-36-16T | M36X2.0 25 16 026.0X2.01 814 | 4.5 31 | $41
22 | 20441-36-20W | M36X2.0 32 20 026.0X2.0196.1| 45 | 36.7 | S41
23 | 20441-45-16T | M45X2.0 25 16 032.0X2.5183.6| 4 33.2 | S50
24 | 20441-45-20T | M45X2.0 32 20 032.0X2.5196.5| 4 36.2 | S50
25 |20441-45-24W | M45X2.0 38 24 032.0X2.5| 109 4 | 42.2 | S50
26 | 20441-52-20T | M52X2.0 32 20 038.0X25197.2 4 | 369  S60
27 | 20441-52-24T | M52X2.0 38 24 038.0X2.5] 111 4 414 | S60
i FPRRSATRENE | MATELE SM20442-XX-XX,
Note:NO. in table match with braided Nﬁg&&&&j&%%ﬁg &aéh EP(jjraI hose.

www.akjia.com




EREiEsL HOSE FITTING

ﬁbﬂlﬂ HYEIRFlLILICﬂ

S2

Egi—

%/‘ 2049171
24°

K&@,“L

%,

S2

20491

A

o

E
24°

90° il N MR Br24°HE W0 T Bl 1% R 5]

90° METRIC FEMALE 24° CONE O-RING L. T.ISO 12151-2--DIN 3865

3= fd =l e =] B E BEHOSE BORE OB R < DIMENSIONS
SN PART NO. THREAD E iA1= DN #5S DASH O-RING A C H S2
1 20491-12-04 | M12X1.5 6 04 004.5X1.5| 27 1 30.5 | S17
2 | 20491-14-04T | M14X1.5 6 04 006.5X1.5| 27 1.7 | 304 | S17
3 20491-14-05 | M14X1.5 8 05 006.5X1.5| 28 2 32 | S19
4 | 20491-16-04T [ M16X1.5 6 04 008.0X1.5| 27 | 21 | 30.7 | S19
5 | 20491-16-05T [ M16X1.5 8 05 008.0X1.5| 32 2.1 | 34.2 | S19
6 20491-16-06 | M16X1.5 10 06 008.0X1.5| 33 2 35 | S22
7 20491-18-04T | M18X1.5 6 04 010.0X1.5| 27 15 32 | S22
8 | 20491-18-05T [ M18X1.5 8 05 010.0X1.5| 32 15 | 36.5 | S22
9 | 20491-18-06T | M18X1.5 10 06 010.0X1.5]34.5] 15 37 | S22
10 20491-18-08 | M18X1.5 13 08 010.0X1.5137.2| 25 | 39.3 | S24
11 | 20491-22-06T | M22X1.5 10 06 012.0X2.0| 34.5 3 38 | S27
12 | 20491-22-08T | M22X1.5 13 08 012.0X2.0| 41 3 44 | S27
13 | 20491-22-10W | M22X1.5 16 10 012.0X2.0 | 44.5 3 495 | S27
14 | 20491-26-08T [ M26X1.5 13 08 015.0X2.0| 41 2.1 [ 454 | S32
15 | 20491-26-10T | M26X1.5 16 10 015.0X2.0| 53 2.1 | 534 | S32
16 | 20491-26-12W | M26X1.5 19 12 015.0X2.0] 58 2.1 | 57.5 | S36
17 | 20491-30-10T | M30X2.0 16 10 020.0X2.0| 53 3.8 | 53.7 | S36
18 | 20491-30-12T | M30X2.0 19 12 020.0X2.0| 61 3.8 [ 58.2  S36
19 [20491-30-16W | M30X2.0 25 16 020.0X2.0| 66 | 3.8 [ 64.5 S36
20 | 20491-36-12T | M36X2.0 19 12 026.0X2.0] 61 | 4.5 [ 58.5 | S41
21 | 20491-36-16T | M36X2.0 25 16 026.0X2.0| 75 | 45 [ 685 | S41
22 | 20491-36-20W | M36X2.0 32 20 026.0X2.0| 84 | 45 [ 76.5 | S41
23 | 20491-45-16T | M45X2.0 25 16 032.0X2.5]| 75 4 71.5 | S50
24 | 20491-45-20T | M45X2.0 32 20 032.0X2.5] 91 4 82 | S50
25 | 20491-45-24W | M45X2.0 38 24 032.0X251975| 4 90.5 | S50
26 | 20491-52-20T | M52X2.0 32 20 038.0X25| 91 4 83 | S60
27 | 20491-52-24T | M52X2.0 38 24 038.0X2.5| 106 4 95.5 | S60
i FPREATRENE | MATEE SM20492-XX-XX,
Note:NO. in table match with braided 'Rﬁﬁ%%\‘&p%%zﬁ%?éﬂﬁ% &aéh EP(jjraI hose.

www.akjia.com



EREiEsL HOSE FITTING I-(.Jlﬁl

(!
>

C | ‘
Sy 5 0 i
24“@L I 24°ﬁ B 24°E | [
4< 52 82
20511T 20511 20511W
O il N MR 2024 °HEA70 T [ E R 5

METRIC FEMALE 24° CONE O-RING H.T. ISO 12151-2--DIN 3865

Fad T e = 184 E BZEHOSE BORE OEE R < DIMENSIONS
PART NO. THREAD E 23R DN #5S DASH O-RING A C S2
1 20511-14-04T M14X1.5 6 04 004.5X1.5| 24 | 1.7 | S17
2 20511-16-04T M16X1.5 6 04 006.5X1.5]|245] 1.8 | S19
3 20511-16-05T M16X1.5 8 05 006.5X1.5| 25 | 1.8 | S19
4 20511-16-06 M16X1.5 10 06 006.5X1.5] 29 | 1.5 | S22
5 20511-18-04T M18X1.5 6 04 008.0X1.5] 25.5| 1.5 | S22
6 20511-18-05T M18X1.5 8 05 008.0X1.5]| 255 1.5 | S22
7 20511-18-06T M18X1.5 10 06 008.0X1.5]| 26.5| 1.5 | S22
8 20511-20-05T M20X1.5 8 05 010.0X1.5| 26.5| 2.5 | S24
9 20511-20-06T M20X1.5 10 06 010.0X1.5]| 26.5| 2.5 | S24
10 20511-20-08 M20X1.5 13 08 010.0X1.5| 315 2.5 | S27
11 20511-22-06T M22X1.5 10 06 011.0X2.0 | 26.5 3 S27
12 20511-22-08T M22X1.5 13 08 011.0X2.0| 29 3 S27
13 20511-24-06T M24X1.5 10 06 013.0X2.0 | 27 3 S30
14 20511-24-08T M24X1.5 13 08 013.0X2.0| 275| 3 S30
15 20511-24-10W | M24X1.5 16 10 013.0X2.0 | 26 3 S30
16 20511-30-08T M30X2 13 08 016.3X2.4| 325 | 2.5 | S36
17 20511-30-10T M30X2 16 10 016.3X24| 33 | 25 |S36
18 20511-30-12T M30X2 19 12 016.3X24| 345 25 | S36
19 [20511-36-12TS41| M36X2 19 12 020.3X2.4| 35 3 S41
20 20511-36-12T M36X2 19 12 020.3X2.4 | 35 | 3.2 | S46
21 |20511-36-16TS41| M36X2 25 16 020.3X24 | 37 32 | S41
22 20511-36-16T M36X2 25 16 020.3X2.4 | 37 3.2 | S46
23 20511-42-16T M42X?2 25 16 025.3X2.4 1385 3.9 | S50
24 20511-42-20W M42X2 32 20 025.3X2.4 | 33 3.9 [ S50
25 20511-52-20T M52X2 32 20 033.3X24 1415 9 |S60
26 20511-52-24T1 M52X2 38 24 033.3X241415] 9 |S60
T RPSHTRAKRE | MATESERERSHII20512-XX-XX,
Note:NO. in table match with braided hose.P/N 20512-XX match with spiral hose.

Nimgbo AR Ta Hydrautic Co -
www.akjia.com



AKJIA HYDRHLILIC

EresiEsl HOSE FITTING I-(.JI

A A
—— | s A
K&Sﬁ‘ - - B "—(L
W g ~
52 H S H 7
2 S2
\‘\%o ' 20541T 96\ 20541 7 20541W
<o "370

45° Nl Y BR SL24°HE 0 T B E R B

45° METRIC FEMALE 24° CONE O-RING H.T. IS0 12151-2-DIN 3865

FEaits e E BZEHOSE BORE (0}:]55 R < DIMENSIONS

PART NO. THREAD E 2f#A{E DN 175 DASH O-RING . C H S2
1 20541-14-04T M14X1.5 6 04 004.5X1.5| 36 | 1.7 | 164 | S17
2 20541-16-04T M16X1.5 6 04 006.5X1.5] 364 | 1.8 | 16.7 | S19
3 20541-16-05T M16X1.5 8 05 006.5X1.5] 38.1| 1.8 17 | S19
4 20541-16-06 M16X1.5 10 06 006.5X1.5] 354 | 1.5 17 | S22
5 20541-18-04T M18X1.5 6 04 008.0X1.5| 374 15 | 17.8 | S22
6 20541-18-05T M18X1.5 8 05 008.0X1.5|1 41.3| 15 19 | S22
7 20541-18-06T M18X1.5 10 06 008.0X1.5|1434| 1.5 | 194 | S22
8 20541-20-05T M20X1.5 8 05 010.0X1.5|141.7| 25 | 193 | S24
9 20541-20-06T M20X1.5 10 06 010.0X1.5|43.7| 25 | 19.8 | S24
10 20541-20-08 M20X1.5 13 08 010.0X1.5|147.8| 2.5 | 21.9 | S27
11 20541-22-06T M22X1.5 10 06 011.0X2.0| 43.7 3 19.8 | S27
12 20541-22-08T M22X1.5 13 08 011.0X2.0|1485| 3 | 215 | S27
13 20541-24-06T M24X1.5 10 06 013.0X2.0|43.7| 3 19.8 | S30
14 20541-24-08T M24X1.5 13 08 013.0X2.0|1485| 3 | 215 S30
15 20541-24-10W | M24X1.5 16 10 013.0X2.0| 51.8| 3 25 | S30
16 20541-30-08T M30X2 13 08 016.3X2.4| 513 | 25 | 244 | S36
17 20541-30-10T M30X2 16 10 016.3X24|1 634 | 25 | 27.1 | S36
18 20541-30-12T M30X2 19 12 016.3X24| 684 | 25 | 27.1 | S36
19 [ 20541-36-12TS41 | M36X2 19 12 020.3X241703| 3 | 286 | S41
20 20541-36-12T M36X2 19 12 020.3X2.4| 713 | 3.2 | 29.7 | S46
21 | 20541-36-16TS41| M36X2 25 16 020.3X2.41 824 3.2 32 | $41
22 20541-36-16T M36X2 25 16 020.3X24| 824 | 3.2 32 | S46
23 20541-42-16T M42X2 25 16 025.3X2.4]1 83.6| 3.9 | 33.2 | S50
24 20541-42-20W M42X2 32 20 025.3X2.4] 100 | 3.9 | 40.1 | S50
25 20541-52-20T M52X2 32 20 033.3X24199.7] 9 | 394 [ S60
26 20541-52-24T M52X2 38 24 033.3X2.4] 112 9 | 425 | S60

T RPSHETRARE | ATESERERSHII20542-XX-XX,
Note:NO. in table match with braided hose.P/N 20542-XX match with spiral hose.

Nimgbo AR Ta Hydrautic Co -
www.akjia.com



AKJIA HYDRHLILIC

EresiEsl HOSE FITTING I-(.JI

i | — |
7 — 7 @

20591 20591W

S2 H

= ] 20591T ‘ E
o el J g = e
90° Al N IR Sr24°HE 0 T B E R B

90° METRIC FEMALE 24° CONE O-RING H.T. IS0 12151-2-DIN 3865

FEaits e E BZEHOSE BORE (0}:]55 R < DIMENSIONS

PART NO. THREAD E 2f#A{E DN 175 DASH O-RING . C H S2
1 20591-14-04T M14X1.5 6 04 004.5X1.5| 27 | 1.7 | 304 | S17
2 20591-16-04T M16X1.5 6 04 006.5X1.5] 27 | 1.8 | 31 | S19
3 20591-16-05T M16X1.5 8 05 006.5X1.5] 29 | 1.8 | 32 | S19
4 20591-16-06 M16X1.5 10 06 006.5X1.5] 29 | 1.5 | 345 | S22
5 20591-18-04T M18X1.5 6 04 008.0X1.5] 28 | 1.5 | 325 | S22
6 20591-18-05T M18X1.5 8 05 008.0X1.5] 32 | 1.5 | 36.5 | S22
7 20591-18-06T M18X1.5 10 06 008.0X1.5|345| 1.5 | 37.5 | S22
8 20591-20-05T M20X1.5 8 05 010.0X1.5| 32 | 25 37 | S24
9 20591-20-06T M20X1.5 10 06 010.0X1.5| 345| 25 38 [ S24
10 20591-20-08 M20X1.5 13 08 010.0X1.5| 35 | 2.5 | 415 | S27
11 20591-22-06T M22X1.5 10 06 011.0X2.0| 345 3 38.5 | S27
12 20591-22-08T M22X1.5 13 08 011.0X2.0| 41 3 | 445 | S27
13 20591-24-06T M24X1.5 10 06 013.0X2.0|345| 3 38.5 | S30
14 20591-24-08T M24X1.5 13 08 013.0X2.0| 41 3 |445 | S30
15 20591-24-10W | M24X1.5 16 10 013.0X2.0|435| 3 52 | S30
16 20591-30-08T M30X2 13 08 016.3X24| 41 | 2.5 | 48,5 | S36
17 20591-30-10T M30X2 16 10 016.3X24| 53 | 25 55 | S36
18 20591-30-12T M30X2 19 12 016.3X24| 58 | 25 55 | S36
19 [ 20591-36-12TS41 | M36X2 19 12 020.3X24] 61 3 59.8 | S41
20 20591-36-12T M36X2 19 12 020.3X24| 61 | 3.2 | 59.8 | S46
21 | 20591-36-16TS41| M36X2 25 16 020.3X2.4| 75 3.2 | 69.8 | $41
22 20591-36-16T M36X2 25 16 020.3X24| 75 | 3.2 | 69.8 | S46
23 20591-42-16T M42X2 25 16 025.3X24] 75 | 3.9 | 71.6 | S50
24 20591-42-20W M42X2 32 20 025.3X24] 91 | 3.9 | 87.5| S50
25 20591-52-20T M52X2 32 20 033.3X24| 91 9 | 86.5| S60
26 20591-52-24T M52X2 38 24 033.3X2.4| 106 9 97 | S60

T RPSHETRARE | ATESERERSHI20592-XX-XX,
Note:NO. in table match with braided hose.P/N 20592-XX match with spiral hose.

Nimgbo AR Ta Hydrautic Co -
www.akjia.com



EREiEsL HOSE FITTING I-(.Jlﬁl

C A cC A C A
. i 74°|E , 74°| E
z E{ | ] §
— 2. —s2 . S2
20711T 20711 20711W

[ A 2 1) A R ST 40 FF

GB METRIC FEMALE 74° CONE SEAT

3= FEaite BaE BZEHOSE BORE R DIMENSIONS
SN PART NO. THREAD E 2#fHf=E DN {FS DASH A C S2
1 20711-12-04 M12X1.5 6 04 145 | 10 17
2 20711-14-04T | M14X15 6 04 16.5| 85 | 17
3 20711-16-04T | M16X15 6 04 16 8 19
4 20711-16-05T | M16X15 8 05 16.5| 8 19
5 20711-16-06 M16X1.5 10 06 16 10 [ 22
6 20711-18-05T | M18X15 8 05 18 8 22
7 20711-18-06T | M18X15 10 06 19 8 22
8 20711-22-06T | M22X15 10 06 19 10 | 27
9 20711-22-08T | M22X15 13 08 195 10 | 27
10 [ 20711-27-08T | M27X15 13 08 185| 10 | 32
11 [ 20711-27-10T | M27X15 16 10 195| 10 | 32
12 [ 20711-30-10T | M30X1.5 16 10 195] 11 36
13 [ 20711-30-12T | M30X1.5 19 12 235] 11 36
14 [ 20711-36-12T M36X2 19 12 21 13 | 41
15 [ 20711-36-16T M36X2 25 16 22 13 | 41
16 [ 20711-39-16T M39X2 25 16 235 13 | 46
17 | 20711-42-16T M42X2 25 16 235 15 50
18 [ 20711-42-20W M42X2 32 20 255 15 50
19 [ 20711-45-16T M45X2 25 16 235] 15 55
20 | 20711-45-20T M45X2 32 20 25 15 55
21 | 20711-52-20T M52X2 32 20 25 17 | 60
22 | 20711-52-24T7 M52X2 38 24 25 17 | 60
23 | 20711-64-32T M64X2 51 32 26 23 75
T RPSHTRAKE | AT ESERENSEI20712-XX-XX,
Note:NO. in table match with braided hose.P/N 20712-XX match with spiral hose.

Ningbo AKJia Hydraulic Co.,Ltd.
www.akjia.com




EREiEsL HOSE FITTING

AKJIA HYDRAULIC

KJI

- A A A
W 2l " H « - | W $2
% 207417 & 20741 )7\ Oy 20741W
45° [ br o i) N IR L7 4°% B
45° GB METRIC FEMALE 74° CONE
e Y= B4 E BZEHOSE BORE R ~ DIMENSIONS
PART NO. THREAD E 2ffRE=E DN S DASH A C H
1 20741-12-04 M12X1.5 6 04 357 10 | 181 | 17
2 20741-14-04T M14X1.5 6 04 353 | 85 | 15.7 | 17
3 20741-16-04T M16X1.5 6 04 38.2 8 185 | 19
4 20741-16-05T M16X1.5 8 05 424 8 20 19
5 20741-16-06 M16X1.5 10 06 444 | 10 | 205 | 22
6 20741-18-05T M18X1.5 8 05 427 | 8 | 204 | 22
7 20741-18-06T M18X1.5 10 06 448 | 8 | 208 | 22
8 20741-22-06T M22X1.5 10 06 448 | 10 | 20.8 | 27
9 20741-22-08T M22X1.5 13 08 47 10 | 20.1 | 27
10 20741-27-08T M27X1.5 13 08 485 | 10 | 215 | 32
11 20741-27-10T M27X1.5 16 10 591 10 | 228 | 32
12 20741-30-10T M30X1.5 16 10 591 11 | 228 | 36
13 20741-30-12T M30X1.5 19 12 67.6 | 11 | 259 | 36
14 20741-36-12T M36X2 19 12 67.6 | 13 | 259 | 41
15 20741-36-16T M36X2 25 16 79.7 | 13 | 293 | 41
16 20741-39-16T M39X2 25 16 804 | 13 30 46
17 20741-42-16T M42X2 25 16 818 | 15 | 314 | 50
18 | 20741-42-20W M42X2 32 20 95 15 | 348 | 50
19 20741-45-16T M45X2 25 16 818 | 15 | 314 | 55
20 20741-45-20T M45X2 32 20 947 | 15 | 345 | 55
21 20741-52-20T M52X2 32 20 947 | 17 | 345 | 60
22 20741-52-24T1 M52X2 38 24 110 | 17 | 404 | 60
23 20741-64-32T M64X2 51 32 137 | 23 [ 483 | 75
iE  RPRSHATHRAKE | MATERRENRSHI20742-XX-XX,
Note:NO. in table match with braided hose.P/N 20742-XX match with spiral hose.

Ningbo AKJia Hydraulic Co.,Ltd.
www.akjia.com



EREiEsL HOSE FITTING

AKJIA HYDRAULIC

KJI

A
A
o L e
_ - Q’//
’ /
H
H 82
< 2 207917 < 20791 £ 20791W

90° [ Ar 2> il Py UK 407 4°% &

74°

90° GB METRIC FEMALE 74° CONE
e Y= B4 E BZEHOSE BORE R ~ DIMENSIONS
PART NO. THREAD E 2ffRE=E DN S DASH A C H
1 20791-12-04 M12X1.5 6 04 27 10 | 325 | 17
2 20791-14-04T M14X1.5 6 04 27 | 85 (294 | 17
3 20791-16-04T M16X1.5 6 04 27 8 334 | 19
4 20791-16-05T M16X1.5 8 05 32 8 38 19
5 20791-16-06 M16X1.5 10 06 345| 10 | 395 | 22
6 20791-18-05T M18X1.5 8 05 32 8 | 385 22
7 20791-18-06T M18X1.5 10 06 345 | 8 40 | 22
8 20791-22-06T M22X1.5 10 06 345 10 40 | 27
9 20791-22-08T M22X1.5 13 08 41 10 | 425 | 27
10 20791-27-08T M27X1.5 13 08 41 10 | 445 | 32
11 20791-27-10T M27X1.5 16 10 53 10 49 32
12 20791-30-10T M30X1.5 16 10 53 11 49 36
13 20791-30-12T M30X1.5 19 12 61 11 56 | 36
14 20791-36-12T M36X2 19 12 61 13 56 41
15 20791-36-16T M36X2 25 16 75 13 66 | 41
16 20791-39-16T M39X2 25 16 75 13 67 46
17 20791-42-16T M42X2 25 16 75 15 69 50
18 | 20791-42-20W M42X2 32 20 91 15 80 50
19 20791-45-16T M45X2 25 16 75 15 69 55
20 20791-45-20T M45X2 32 20 91 15 | 795 | 55
21 20791-52-20T M52X2 32 20 91 17 | 795 ] 60
22 20791-52-24T1 M52X2 38 24 106 | 17 94 | 60
23 20791-64-32T M64X2 51 32 132 | 23 117 | 75
x| BRPRSHATHRAKE | MATERRENRSHI20792-XX-XX,
Note:NO. in table match with braided hose.P/N 20792-XX match with spiral hose.

Ningbo AKJia Hydraulic Co.,Ltd.
www.akjia.com



EREiEsL HOSE FITTING

AKJIA HYDRHULﬁ

C_A

L

60{EE{7

T
Ha

22611

60°{ E

22611W

YL N IR Z60° 4 HE T

BSP FEMALE 60° CONE

Fmits 1B E BXEHOSE BORE R < DIMENSIONS
PART NO. THREAD E 23R DN {75 DASH A C S1
1 22611-04-04 G1/4" X19 6 04 18 | 5.5 | S19
2 22611-06-04 G3/8" X19 6 04 19 | 6.3 | S22
3 22611-06-06 G3/8" X19 10 06 195| 6.3 | S22
4 22611-06-08 G3/8" X19 13 08 195 | 6.3 | S22
5 22611-08-06 G1/2" X14 10 06 21 | 7.5 | S27
6 22611-08-08 G1/2" X14 13 08 21.5| 7.5 | S27
7 22611-12-10 G3/4" X14 16 10 23.5110.9 | S32
8 22611-12-12 G3/4" X14 19 12 24 1109 | S32
9 22611-16-16 G1" X11 25 16 27 [11.7 | S41
10 | 22611-20-20W |[G1.1/4" X11 32 20 30.5| 11 | S50
11 | 22611-24-24W |G1.1/2" x11 38 24 33 13 | S55
12 | 22611-32-32W G2" X11 51 32 33 16 | S70
T FPASAETRARE | MATEFRENSEUI22612-XX-XX,
Note:NO. in table match with braided hose.P/N 22612-XX match with spiral hose.

Ningbo AKJia Hydraulic Co.,Ltd.

www.akjia.com



EREiEsL HOSE FITTING

AKJIA HYDRHULﬁ

7

22641

~afts
PART NO.

I

IR E
THREAD E

BZEHOSE BORE

A i
W
! I
W
- 22641W

45°  FEE NIRL60° HhHETH
45° BSP FEMALE 60° CONE

R < DIMENSIONS

AMAE DN 535 DASH A C H S2

1 22641-04-04 | G1/4" X19 6 04 36 | 5.5 | 164 | S19
2 22641-06-04 | G3/8" X19 6 04 37 | 6.3 | 173 | S22
3 22641-06-06 | G3/8" X19 10 06 428 | 6.3 | 18.8 | S22
4 22641-06-08 | G3/8" X19 13 08 473 | 6.3 | 18.8 | S22
5 22641-08-06 | G1/2" X14 10 06 448 | 7.5 | 20.8 | S27
6 22641-08-08 | G1/2" X14 13 08 48.8 | 7.5 | 21.9 | S27
7 22641-12-10 | G3/4" X14 16 10 6241109 | 26.1 | S32
8 22641-12-12 G3/4" X14 19 12 69.1 109 | 274 | S32
9 22641-16-16 G1" X11 25 16 82.7|11.7 | 323 | S41
10 | 22641-20-20W |G1.1/4" X11 32 20 98.2| 11 38 | S50
11 | 22641-24-24W |G1.1/2" x11 38 24 115 | 13 |44.6 | S55
12 | 22641-32-32W | G2" X11 51 32 141 | 16 |52.7 | S70

iE  RPRSAETRARE | MATESFRENSHI22642-XX-XX,

Note:NO. in table match with braided hose.P/N 22642-XX match with spiral hose.

Ningbo AKJia Hydraulic Co.,Ltd.

www.akjia.com




AKJIA HYDRHLILIC

EresiEsl HOSE FITTING K.JI

60°

90° T WIREL60° AhAHE T
90° BSP FEMALE 60° CONE

Eare 1845 E EXEHOSE BORE R <+ DIMENSIONS
PART NO. THREAD E 2ffA#=Z DN {5 DASH A C H S2
1 22691-04-04 G1/4" X19 6 04 27 | 5.5 1305 S19
2 22691-06-04 G3/8" X19 6 04 27 | 6.3 | 31.7 | S22
3 22691-06-06 G3/8" X19 10 06 345 6.3 | 37.2 | S22
4 22691-06-08 G3/8" X19 13 08 39 | 6.3 | 37.2 | S22
5 22691-08-06 G1/2" X14 10 06 345 7.5 40 | S27
6 22691-08-08 G1/2" X14 13 08 41 | 7.5 46 | S27
7 22691-12-10 G3/4" X14 16 10 53 1109 53.6 | S32
8 22691-12-12 G3/4" X14 19 12 61 | 10.9| 58.1 | S32
9 22691-16-16 G1l" X11 25 16 75 | 11.7 | 703 | S$41
10 | 22691-20-20W |G1l.1/4" X11 32 20 91 11 | 84.5 | S50
11 | 22691-24-24W | G1.1/2" x11 38 24 106 [ 13 | 100 | S55
12 | 22691-32-32W G2" X11 51 32 132 | 16 | 123 [ S70
T RPASHTHREARE | MATEFRRENRSB922692-XX-XX,
Note:NO. in table match with braided hose.P/N 22692-XX match with spiral hose.

Ningbo AKJia Hydraulic Co.,Ltd.
www.akjia.com



EREiEsL HOSE FITTING

AKJIA HYDRFILILIC

KJIA]

C_A
v

cC_A

> JL g N R 260° 41 HE I XN £

60° E‘ =i 60" E ]k 4|
Q;_L{(d S S2 S1 BSP FEMALE 60° CONE DOUBLE HEXAGON
22611D-SM 22611D-SMW
~mfts |aE BREHOSE BORE R 7 DIMENSIONS
PART NO. THREAD E 23A{E DN {75 DASH A C S1 S2
1 22611D-04-04SM | G1/4" X19 6 04 23.5| 55 | S14 | S19
2 22611D-06-06SM | G3/8" X19 10 06 26 | 6.3 | S17 | S22
3 22611D-08-065M | G1/2" X14 10 06 30.5| 7.5 | S19 | S27
4 22611D-08-08SM | G1/2" X14 13 08 31 | 7.5 | S19 | S27
5 22611D-12-12SM | G3/4" X14 19 12 33.5(10.9 | S27 | S32
6 22611D-16-16SM G1" X11 25 16 36 | 11.7 | S32 | S41
7 | 22611D-20-20SMW |G1.1/4" X11 32 20 44 11 | S41 | S50
8 | 22611D-24-24SMW |G1.1/2" x11 38 24 45 13 | S46 | S55
9 | 22611D-32-32SMW | G2" X11 51 32 45 16 | S60 | S70
iE | BPESRTRARE  RTESRENSHI22612D-XX-XXSM,
Note:NO. in table match with braided hose.P/N 22612D-XX match with spiral hose.

Ningbo AKJia Hydraulic Co.,Ltd.
www.akjia.com



AKJIA HYDRHLILIC

KJIA]

EREiEsL HOSE FITTING

S

: [[JLLT
. S2
24211W

L HIORFS A MR L1 1

C AwL l KC A
E\ﬂm E\Hg " d

242117

24211

ORFS FEMALE FLAT SEAT ISO 12151-1--SAE J1453

3= fad T A= B8 E BZEHOSE BORE R < DIMENSIONS
SN PART NO. THREAD E 2AffAE DN #RS DASH A C S2
1 24211-04-04 9/16"X18 6 04 225 | 85 | S19
2 24211-06-04T | 11/16"X16 6 04 235 | 10 | S22
3 24211-06-06 | 11/16"X16 10 06 255 | 10 | S22
4 | 24211-08-06T | 13/16"X16 10 06 25 11 | S27
5 24211-08-08 | 13/16"X16 13 08 28 11 | S27
6 24211-10-08 1"X14 13 08 325 | 13.5 | S30
7 24211-10-10 1"X14 16 10 33 | 135 | S30
8 | 24211-12-08T | 1.3/16"X12 13 08 305| 15 | S36
9 [ 24211-12-10T | 1.3/16"X12 16 10 32 15 | S36
10 | 24211-12-12T | 1.3/16"X12 19 12 33 15 | S36
11 | 24211-16-12T | 1.7/16"X12 19 12 35 | 14.8 | $41
12 | 24211-16-16T | 1.7/16"X12 25 16 345 | 14.8 | S41
13 [ 24211-20-20W (1.11/16"X12 32 20 4251 15 | S50
14 | 24211-24-24T7 2"X12 38 24 36 | 14.8 | S60
T RPASHATRARE | URTEERERSH24212-XX-XX,
Note:NO. in table match with braided hose.P/N 24212-XX match with spiral hose.

Ningbo AKJia Hydraulic Co.,Ltd.
www.akjia.com




EREiEsL HOSE FITTING

AKJIA HYDRHULﬁ

N

S2
EHORFS 24 ~F TH
45° ORFS FEMALE FLAT SEAT IS0 12151-1--SAE J1453

Emits 124 E BEHOSE BORE R < DIMENSIONS
PART NO. THREAD E 2#iAE DN RS DASH A C H S2

1 24241-04-04 9/16"X18 6 04 30.7( 85 [ 11.1 | S19
2 24241-06-04T 11/16"X16 6 04 358 10 | 16.1 | S22
3 24241-06-06 11/16"X16 10 06 37.7 10 | 13.8 | S22
4 24241-08-06T 13/16"X16 10 06 441 | 11 | 20.1 | S27
5 24241-08-08 13/16"X16 13 08 443 | 11 | 17.5 | S27
6 24241-10-08 1"X14 13 08 48.5113.5] 21.5 | S30
7 24241-10-10 1"X14 16 10 56 [13.5] 19.7 | S30
8 24241-12-08T | 1.3/16"X12 13 08 49.2 | 15 | 22.2 | S36
9 24241-12-10T | 1.3/16"X12 16 10 59.1| 15 | 22.8 | S36
10 24241-12-12T | 1.3/16"X12 19 12 66.2 | 15 [ 245 | S36
11 24241-16-12T | 1.7/16"X12 19 12 68.3 | 14.8 | 26.6 | S41
12 24241-16-16T | 1.7/16"X12 25 16 79 | 14.8 | 28.6 | S41
13 24241-20-20W |1.11/16"X12 32 20 98.6 | 15 [ 384 | S50
14 24241-24-24T 2"X12 38 24 106 | 14.8 | 36.8 | S60

T RPASATRARE | AT ESRENSET24242-XX-XX,

Note:NO. in table match with braided hose.P/N 24242-XX match with spiral hose.

Ningbo AKJia Hydraulic Co.,Ltd.
www.akjia.com



EREiEsL HOSE FITTING

AKJIA HYDRHULﬁ

P P — - - ,”L
p— 4 4
H
" H 52
S2 )
< = 242917 < 24291 < 24291W

90°

90°

E

K HORFS IR SV i

ORFS FEMALE FLAT SEAT IS0 12151-1--SAE J1453

Eaiis B E BEHOSE BORE R < DIMENSIONS
PART NO. THREAD E 2ffH=E DN {FS DASH A C H S2

1 24291-04-04 9/16"X18 6 04 27 | 85 | 244 | S19
2 24291-06-04T 11/16"X16 6 04 27 10 30 | S22
3 24291-06-06 11/16"X16 10 06 3451 10 30 | S22
4 24291-08-06T | 13/16"X16 10 06 345( 11 39 | S27
5 24291-08-08 13/16"X16 13 08 40.7 | 11 | 38.7 | S27
6 24291-10-08 1"X14 13 08 41 | 135|445 | S30
7 24291-10-10 1"X14 16 10 53 | 13.5]| 445 S30
8 24291-12-08T | 1.3/16"X12 13 08 41 15 | 45.5| S36
9 24291-12-10T | 1.3/16"X12 16 10 53 15 49 | S36
10 24291-12-12T7 | 1.3/16"X12 19 12 61 15 54 | S36
11 24291-16-12T | 1.7/16"X12 19 12 61 (148 57 | S41
12 24291-16-16T 1.7/16"X12 25 16 75 1148 | 65 | S41
13 [ 24291-20-20W |1.11/16"X12 32 20 91 15 85 [ S50
14 24291-24-24T 2"X12 38 24 106 [ 148 | 89 | S60

T RPSHTRAKE | AT ESERENSE24292-XX-XX,

Note:NO. in table match with braided hose.P/N 24292-XX match with spiral hose.

Ningbo AKJia Hydraulic Co.,Ltd.
www.akjia.com



AKJIR HYEIRFILILIC

EresiEsl HOSE FITTING K.JI

C__ A C_A_
S | | HHIORFS P URLCF T U
T :
- ORFS FEMALE FLAT SEAT DOUBLE HEXAGON
s2 ST 52 St
24211D-SM 24211D-SMW

~FmftsS B E BZEHOSE BORE R < DIMENSIONS
PART NO. THREAD E 2f3A=E DN {75 DASH A C S1 S2
1 24211D-04-04SM 9/16"X18 6 04 28,5 | 85 | S14 | S19
2 24211D-06-06SM 11/16"X16 10 06 31.5| 10 | S17 | S22
3 24211D-08-08SM 13/16"X16 13 08 37.5| 11 | S19 |S27
4 24211D-10-10SM 1"X14 16 10 43 | 13.5 | S24 | S30
5 24211D-12-12SM | 1.3/16"X12 19 12 445 | 15 | S30 | S36
6 24211D-16-16SM | 1.7/16"X12 25 16 50 | 14.8 | S36 | S41
7 | 24211D-20-20SMW [1.11/16"X12 32 20 545| 15 | S41 | S50
8 | 24211D-24-24SMW 2"X12 38 24 56 | 14.8 | S50 | S60
iE  RPNERTHRARE  WRTERRENSHN24212D-XX-XXSM,
Note:NO. in table match with braided hose.P/N 24212D-XX match with spiral hose.

Ningbo AKJia Hydraulic Co.,Ltd.
www.akjia.com



EREiEsL HOSE FITTING K.Jlﬁl

HE 74°| E

|mu_d 74°| E a' ﬂ
— sz — 52

267117 26711W
FHITIC NIERLT4° WNHEH

JIC FEMALE 74° CONE SEAT SAE J514

~Fmits B E BZEHOSE BORE R < DIMENSIONS

PART NO. THREAD E 2%iAR&ZE DN #ES DASH A C S1
1 26711-04-04 7/16"X20 6 04 15 9 |S15
2 26711-04-05 7/16"X20 8 05 15 9 | S15
3 26711-06-06 9/16"X18 10 06 155 10.5 | S19
4 26711-08-06 3/4"X16 10 06 175 11 | S24
5 26711-08-08 3/4"X16 13 08 185 11 | S24
6 26711-08-10 3/4"X16 16 10 19 | 11 | S24
7 26711-10-08 7/8"X14 13 08 19 | 13 | S27
8 26711-10-10 7/8"X14 16 10 195 | 13 | S27
9 26711-12-10 1.1/16"X12 16 10 21 | 15 | S32
10 26711-12-12 1.1/16"X12 19 12 215 15 [ S32
11 26711-16-12 1.5/16"X12 19 12 215 16 | S41
12 26711-16-16 1.5/16"X12 25 16 225 16 | S41
13 26711-20-20W 1.5/8"X12 32 20 265 | 17 | S50
14 26711-24-24W 1.7/8"X12 38 24 305 20 | S55
15 26711-32-24T 2.1/2"X12 38 24 27 | 23.5 | S75
16 26711-32-32T 2.1/2"X12 51 32 27 | 23.5| S75

T RPERTHRERE | BRTESRERSHII26712-XX-XX,
Note:NO. in table match with braided hose.P/N 26712-XX match with spiral hose.

Ningbo AKJia Hydraulic Co.,Ltd.
www.akjia.com



EREiEsL HOSE FITTING

AKJIA HYDRHULﬁ

Wl
1 S2
<<\
<¢ 26741

P e
WO WS
S2 T S2
f;>\ 267417 22\ 26741W

45° ZEHIJIC WIRLT4° WHET

45° JIC FEMALE 74° CONE SEAT SAE J514

Fad i = 184 E BZEHOSE BORE R < DIMENSIONS

PART NO. THREAD E 2¥fH=E DN {5 DASH A C H S2
1 26741-04-04 7/16"X20 6 04 339 9 14.3 | S15
2 26741-04-05 7/16"X20 8 05 349 ( 9 14.3 | S15
3 26741-06-06 9/16"X18 10 06 40.2 | 10.5 | 16.2 | S19
4 26741-08-06 3/4"X16 10 06 416 | 11 | 176 | S24
5 26741-08-08 3/4"X16 13 08 463 11 | 194 | S24
6 26741-08-10 3/4"X16 16 10 51 11 | 20.1 | S24
7 26741-10-08 7/8"X14 13 08 474 13 | 20.5| S27
8 26741-10-10 7/8"X14 16 10 59.5| 13 | 23.2| S27
9 26741-12-10 1.1/16"X12 16 10 60.2 | 15 [ 23.9| S32
10 26741-12-12 1.1/16"X12 19 12 669 | 15 [ 25.2| S32
11 26741-16-12 1.5/16"X12 19 12 676 | 16 | 259 | S41
12 26741-16-16 1.5/16"X12 25 16 793 | 16 | 289 | S41
13 | 26741-20-20W | 1.5/8"X12 32 20 954 | 17 | 35.2| S50
14 | 26741-24-24W | 1.7/8"X12 38 24 112 | 20 | 42.8 | S55
15 | 26741-32-24W | 2.1/2"X12 38 24 113 [ 23.5| 43.6 | S75
16 | 26741-32-32W | 2.1/2"X12 51 32 140 | 23.5 | 51.6 | S75

i EPRSATREKE | MATEKE R SHH26742- XXX,
Note:NO. in table match with braided hose.P/N 26742-XX match with spiral hose.

Ningbo AKJia Hydraulic Co.,Ltd.

www.akjia.com



EREiEsL HOSE FITTING

AKJIA HYDRHULﬁ

A : A

s — S

4 @

H
H
. _ ﬁ
© = 26791 © 267917
74 74°

A

%

S2

° 26791W

E

74°

90° FEHIJIC WEALT74° NHETH

90° JIC FEMALE 74° CONE SEAT SAE J514

Fad i = 184 E BZEHOSE BORE R < DIMENSIONS
PART NO. THREAD E 2¥fH=E DN {5 DASH A C H S2
1 26791-04-04 7/16"X20 6 04 27 9 274 | S15
2 26791-04-05 7/16"X20 8 05 28 9 | 274 S15
3 26791-06-06 9/16"X18 10 06 3451 10.5 | 33.5( S19
4 26791-08-06 3/4"X16 10 06 345( 11 | 355 | S24
5 26791-08-08 3/4"X16 13 08 41 11 [ 425 S24
6 26791-08-10 3/4"X16 16 10 45 11 | 425 | S24
7 26791-10-08 7/8"X14 13 08 41 13 [ 43.5 | S27
8 26791-10-10 7/8"X14 16 10 53 13 [ 49.5 | S27
9 26791-12-10 1.1/16"X12 16 10 53 15 [ 50.5| S32
10 26791-12-12 1.1/16"X12 19 12 61 15 55 [ S32
11 26791-16-12 1.5/16"X12 19 12 61 16 56 | S41
12 26791-16-16 1.5/16"X12 25 16 75 16 | 65.5 | S41
13 | 26791-20-20W | 1.5/8"X12 32 20 91 17 | 80.5 | S50
14 | 26791-24-24W | 1.7/8"X12 38 24 106 | 20 | 97.5( S55
15 | 26791-32-24W | 2.1/2"X12 38 24 106 | 23.5 | 98.5| S75
16 | 26791-32-32W | 2.1/2"X12 51 32 132 | 235 | 122 | S75
i PR SATHREKE | MATEKERSHH26792- XXX,
Note:NO. in table match with braided hose.P/N 26792-XX match with spiral hose.

Ningbo AKJia Hydraulic Co.,Ltd.

www.akjia.com




AKJIA HYDRHLILIC

EresiEsl HOSE FITTING K.JI

C_A_ C_A
o~
wé e (gl DN FHTTC PYIBLLT4° Py 4k TH BN £
HW JIITIIL
S1 —E°
m 251 IC FEMALE 74° CONE SEAT DOUBLE HEXAGON
26711D-SM 26711D-SMW

“mits B E BZEHOSE BORE R < DIMENSIONS
PART NO. THREAD E 2ffR&=E DN S DASH A C S1 S2
1 26711D-04-04SM 7/16"X20 6 04 20 9 S12 | S15
2 26711D-04-05SM 7/16"X20 8 05 20 9 S14 | S15
3 26711D-06-06SM 9/16"X18 10 06 21 | 105 | S17 | S19
4 26711D-06-08SM 9/16"X18 13 08 21.5| 105 | S19 | S19
5 26711D-08-06SM 3/4"X16 10 06 25 | 11 [ S19 | S24
6 26711D-08-08SM 3/4"X16 13 08 245 | 11 | S19 | S24
7 26711D-08-10SM 3/4"X16 16 10 25 | 11 [ S22 | S24
8 26711D-10-08SM 7/8"X14 13 08 25 | 13 [ S22 | S27
9 26711D-10-10SM 7/8"X14 16 10 2065 | 13 | S22 | S27
10 26711D-12-10SM 1.1/16"X12 16 10 315 15 | S27 | S32
11 26711D-12-12SM 1.1/16"X12 19 12 32 | 15 | S27 | S32
12 26711D-16-12SM 1.5/16"X12 19 12 335 16 | S32 | S41
13 26711D-16-16SM 1.5/16"X12 25 16 345 16 | S32 | S41
14 | 26711D-20-20SMW | 1.5/8"X12 32 20 38 | 17 | S41 | S50
15 | 26711D-24-20SMW | 1.7/8"X12 32 20 415 | 20 | S46 | S55
16 | 26711D-24-24SMW | 1.7/8"X12 38 24 415 | 20 | S46 | S55
17 | 26711D-32-24SMW | 2.1/2"X12 38 24 44 | 235 | S65 | S75
18 | 26711D-32-32SMW | 2.1/2"X12 51 32 44 | 235 | S65 | S75
ix  RPERTHRARE | RTESKENSHII26712D-XX-XXSM,
Note:NO. in table match with braided hose.P/N 26712D-XX match with spiral hose.

Ningbo AKJia Hydraulic Co.,Ltd.
www.akjia.com



EREiEsL HOSE FITTING K.Jlﬁl

C_A C_A
S/ el )
60°|E - [ 60| ELLL H A 2 il P9 R 2060° A 4 T
m% S 52 . S1 JIS METRIC FEMALE 60° CONE SEAT
28611 28611W
RS R4 E B:EHOSE BORE R < DIMENSIONS
PART NO. THREAD E LM DN #FE2 DASH A C S1
1 28611-14-04 M14X1.5 6 04 21 105 | 19 19
2 28611-16-05 M16X1.5 8 05 24 10 22 22
3 28611-16-06 M16X1.5 10 06 24 10 22 22
4 28611-18-06 M18X1.5 10 06 24 115 | 24 | 24
5 28611-20-08 M20X1.5 12 08 285 | 12 27 27
6 28611-22-08 M22X1.5 12 08 285 | 14 27 27
7 28611-24-08 M24X1.5 12 08 28,5 | 15 32 32
8 28611-24-10 M24X1.5 16 10 285 15 32 32
9 28611-30-12 M30X1.5 20 12 285|183 | 36 36
10 28611-33-12 M33X1.5 20 12 31 | 213 | 41 | 41
11 28611-36-16 M36X1.5 25 16 345 | 20 46 | 46
12 28611-42-20W M42X1.5 32 20 40 | 188 | 55 55
T RPNSHETRAKE | BT EERERSHI28612-XX-XX,
Note:NO. in table match with braided hose.P/N 28612-XX match with spiral hose.

Ningbo AKJia Hydraulic Co.,Ltd.

www.akjia.com




EREiEsL HOSE FITTING K.Jlﬁl

C A C_A
m%;;@ N
60°E | L 60° | E % H A 55 1] P R 206 0° Py HE TH
H o
m S1 32 . S1 JIS GAS FEMALE 60° CONE SEAT
29611 29611W

afts B E EEHOSE BORE R < DIMENSIONS
PART NO. THREAD E 2ffRE DN S DASH A C S1 S2
1 29611-04-04 G1/4"X19 6 04 21 8 S19 | S19
2 29611-06-05 G3/8"X19 8 05 23 9 S22 | S22
3 29611-06-06 G3/8"X19 10 06 23 9 S22 | S22
4 29611-08-08 G1/2"X14 13 08 26.5| 12 | S27 | S27
5 29611-10-10 G5/8"X14 16 10 30 | 115 | S30 | S30
6 29611-12-12 G3/4"X14 19 12 30.5| 135 | S32 | S32
7 29611-16-16 G1"X11 25 16 34 16 | S41 | S41
8 29611-20-20W G1.1/4"X11 32 20 43 | 185 | S50 | S50
9 29611-24-24W G1.1/2"X11 38 24 435 19 | S55 | S55
10 29611-32-32W G2"X11 51 32 46.5| 23 | S70 | S70
it BRPRSATRARE | RTESRENSSN29612-XX-XX,
Note:NO. in table match with braided hose.P/N 29612-XX match with spiral hose.

Ningbo AKJia Hydraulic Co.,Ltd.
www.akjia.com



AKJIA HYDRHLILIC

EresiEsl HOSE FITTING I-(.JI

A

| . 87311

SAE 7% 3000 PSI

|_ SAE FLANGE 3000 PSI

!
A

Fe fed Y= = BZEHOSE BORE R ~ DIMENSIONS
SN PART NO. FLANGENO. 7R DN #FS DASH A D L
1 87311-08-08 1/2" 13 08 46 | 30.2 [ 6.73
2 87311-08-10 1/2" 16 10 47 | 30.2 | 6.73
3 87311-12-08 3/4" 13 08 47 | 381 |6.73
4 87311-12-10 3/4" 16 10 475 | 38.1 | 6.73
5 87311-12-12 3/4" 19 12 48 | 38.1 [6.73
6 87311-12-16 3/4" 25 16 49 [ 38.1 (6.73
7 87311-16-12 1" 19 12 51 | 444 | 8
8 87311-16-16 1" 25 16 52 | 444 | 8
9 87311-16-20 1" 32 20 53 | 444 | 8
10 87311-20-12 1.1/4" 19 12 56 [ 508 | 8
11 87311-20-16 1.1/4" 25 16 57 [ 508 | 8
12 87311-20-20 1.1/4" 32 20 58 [ 508 | 8
13 87311-20-24 1.1/4" 38 24 61 | 50.8 8
14 87311-24-20 1.1/2" 32 20 68 | 603 | 8
15 87311-24-24 1.1/2" 38 24 68 | 603 | 8
16 87311-32-24 2" 38 24 70 | 71.4 19.53
17 87311-32-32 2" 51 32 70 | 714 19.53
18 87311-40-32 2.1/2" 51 32 73 | 84.1 |9.53
19 | 87311-40-40 2.1/2" 63 40 76 | 84.1 |9.53
20 87311-40-48 2.1/2" 76 48 78.5 ] 84.1 | 9.53
21 87311-48-48 3" 76 48 785 | 102 | 9.53
22 87311-56-56 3.1/2" 90 56 875 114 | 11.2
23 87311-64-64 4" 102 64 955 | 127 |[11.2
T RPASATRARE | WRTESERENSHIN87312-XX-XX,
Note:NO. in table match with braided hose.P/N 87312-XX match with spiral hose.

Ningbo AKJia Hydraulic Co.,Ltd.
www.akjia.com



EREiEsL HOSE FITTING

AKJIA HYDRHLILIC

KJIA]

o
K

87341

45° SAE %% 3000 PSI

45° SAE FLANGE 3000 PSI
L
Fs FmilsS E=BS EXEHOSE BORE R < DIMENSIONS
SN PART NO. FLANGENO. 2#R&DN #ES DASH A H D
1 87341-08-08 1/2" 13 08 499 (229 30.2|6.73
2 87341-12-08 3/4" 13 08 499 (229 38.1|6.73
3 87341-12-10 3/4" 16 10 60.6 | 243 | 38.1|6.73
4 87341-12-12 3/4" 19 12 67.6 | 259 | 38.1]6.73
5 87341-16-12 1" 19 12 67.6 1259 (444| 8
6 87341-16-16 1" 25 16 79.7 1294 | 444 8
7 87341-16-20 1" 32 20 94 1338|444 8
8 87341-20-16 1.1/4" 25 16 7971293 (508 8
9 87341-20-20 1.1/4" 32 20 94 |133.8|508( 8
10 87341-24-20 1.1/2" 32 20 9541352 (603| 8
11 87341-24-24 1.1/2" 38 24 107 | 38.3 | 60.3 8
12 87341-32-24 2" 38 24 107 [ 383 | 71.4 | 9.53
13 87341-32-32 2" 51 32 1351463 | 714 | 9.53
14 87341-40-32 2.1/2" 51 32 131 |1 47.8| 84.1 | 9.53
T RPASATRARE | WATESRENSKTII87342-XX-XX,
Note:NO. in table match with braided hose.P/N 87342-XX match with spiral hose.

Ningbo AKJia Hydraulic Co.,Ltd.

www.akjia.com



EREiEsL HOSE FITTING K.Jlﬁl

%A -1 87391
// ‘H'L H ( 90° SAE = 3000 PSI
H
90° SAE FLANGE 3000 PSI
L
D
Eare g =] EZ=HOSE BORE R <+ DIMENSIONS
PART NO. FLANGENO. 2%7M3{Z DN #5S DASH A H D
1 87391-08-08 1/2" 13 08 41 |46.5( 30.2|6.73
2 87391-08-10 1/2" 16 10 53 50 | 30.2]6.73
3 87391-12-08 3/4" 13 08 41 |46.5( 38.1|6.73
4 87391-12-10 3/4" 16 10 53 51 [ 38.1]6.73
5 87391-12-12 3/4" 19 12 61 56 | 38.1|6.73
6 87391-16-12 1" 19 12 61 56 | 444 | 8
7 87391-16-16 1" 25 16 75 66 | 444 | 8
8 87391-16-20 1" 32 20 91 | 785|444 | 8
9 87391-20-12 1.1/4" 19 12 61 56 [ 50.8| 8
10 87391-20-16 1.1/4" 25 16 75 66 | 50.8| 8
11 87391-20-20 1.1/4" 32 20 91 | 785|508 | 8
12 87391-20-24 1.1/4" 38 24 9751785|508]| 8
13 87391-24-20 1.1/2" 32 20 91 | 80.5| 60.3 8
14 87391-24-24 1.1/2" 38 24 106 | 91 | 60.3 8
15 87391-32-24 2" 38 24 106 [ 91 | 714 9.53
16 87391-32-32 2" 51 32 132 (114 | 714 | 9.53
17 87391-40-32 2.1/2" 51 32 132 | 116 | 84.1 | 9.53
i FRSATRARE | AT E R SH87392-X0CXX,
Note:NO. in table match with braided hose.P/N 87392-XX match with spiral hose.

Ningbo AKJia Hydraulic Co.,Ltd.
www.akjia.com



EREiEsL HOSE FITTING K.Jlﬁl

87611

JM_H_H_MH_L SAE %> 6000 PSI

SAE FLANGE 6000 PSI

Fe fad A= ZEERE BZEHOSE BORE R < DIMENSIONS
SN PART NO. FLANGENO. 2#i/tZ DN {75 DASH A D L
1 87611-08-08 1/2" 13 08 47 | 31.7 [7.75
2 87611-08-10 1/2" 16 10 475 | 31.7 | 7.75
3 87611-12-08 3/4" 13 08 50 | 413 (8.76
4 87611-12-10 3/4" 16 10 505 ( 41.3 | 8.76
5 87611-12-12 3/4" 19 12 51 | 41.3 | 8.76
6 87611-12-16 3/4" 25 16 52 | 41.3 | 8.76
7 87611-16-12 1" 19 12 56 | 47.6 [9.53
8 87611-16-16 1" 25 16 57 | 47.6 [ 9.53
9 87611-16-20 1" 32 20 61 | 47.6 |9.53
11 87611-20-16 1.1/4" 25 16 65 54 110.3
12 87611-20-20 1.1/4" 32 20 66 54 |110.3
13 87611-24-20 1.1/2" 32 20 75 [ 635|126
14 87611-24-24 1.1/2" 38 24 75 [ 635|126
15 87611-32-24 2" 38 24 85 | 794|126
16 87611-32-32 2" 51 32 85 | 794|126
T RPASATRARE | WRTEERERSH87612-XX-XX,
Note:NO. in table match with braided hose.P/N 87612-XX match with spiral hose.

Ningbo AKJia Hydraulic Co.,Ltd.
www.akjia.com



EREiEsL HOSE FITTING

KJI

AKJIA HYDRHULﬁ

Rl ﬂ

45°

87641

45° SAE %% 6000 PSI

SAE FLANGE 6000 PSI

fed Y= e BZEHOSE BORE R < DIMENSIONS
PART NO. FLANGENO. 2¥3A#&E DN {75 DASH A H D
1 87641-08-08 1/2" 13 08 499 (229|317 |7.75
2 87641-12-10 3/4" 16 10 634271413 |8.76
3 87641-12-12 3/4" 19 12 704 | 28.8 | 41.3 | 8.76
4 87641-16-12 1" 19 12 7251309 [ 47.6 | 9.53
5 87641-16-16 1" 25 16 84.6 | 34.2 | 47.6 | 9.53
6 87641-20-16 1.1/4" 25 16 8741371 54 |10.3
7 87641-20-20 1.1/4" 32 20 102 (415 | 54 |10.3
8 87641-24-20 1.1/2" 32 20 105|451 | 63.5( 126
9 87641-24-24 1.1/2" 38 24 117 [ 48.2 | 63.5] 126
10 87641-32-32 2" 51 32 145 1619 | 794 | 12.6
T RPERTRAKE | WATERRENSKII87642-XX-XX,
Note:NO. in table match with braided hose.P/N 87642-XX match with spiral hose.

Ningbo AKJia Hydraulic Co.,Ltd.

www.akjia.com



EREiEsL HOSE FITTING

KJI

AKJIA HYDRHULﬁ

A

87691

90° SAE %™ 6000 PSI

H
90° SAE FLANGE 6000 PSI
L
fad T iw = ZERE BZEHOSE BORE R < DIMENSIONS
PART NO. FLANGENO. 2XfRAE DN #5S DASH A H D

1 87691-08-08 1/2" 13 08 41 |(46.5| 31.7 | 7.75
2 87691-08-10 1/2" 16 10 53 51 | 31.7 | 7.75
3 87691-12-08 3/4" 13 08 41 | 50.5| 41.3 | 8.76
4 87691-12-10 3/4" 16 10 53 55 | 41.3 | 8.76
5 87691-12-12 3/4" 19 12 61 60 | 41.3]8.76
6 87691-12-16 3/4" 25 16 75 70 [ 41.3 | 8.76
7 87691-16-12 1" 19 12 61 | 63 | 47.69.53
8 87691-16-16 1" 25 16 75 | 73 [ 47.6]9.53
9 87691-16-20 1" 32 20 91 | 855|47.6(9.53
10 87691-20-16 1.1/4" 25 16 75 77 54 |10.3
11 87691-20-20 1.1/4" 32 20 91 | 895| 54 |10.3
12 87691-24-20 1.1/2" 32 20 91 (945 | 635|126
13 87691-24-24 1.1/2" 38 24 106 | 105 | 63.5 | 12.6
14 87691-32-24 2" 38 24 106 | 113 | 794 | 12.6
15 87691-32-32 2" 51 32 132 |1 136 | 794 | 12.6

T ZRPASATRARE | WRTESERENSHN87692-XX-XX,

Note:NO. in table match with braided hose.P/N 87692-XX match with spiral hose.

Ningbo AKJia Hydraulic Co.,Ltd.

www.akjia.com



AKJIA HYDRAULIC
thesizsl HOSE FITTING |éK.J|é|

A

1 % 87613

- NRE SAE 7% 6000 PS|
L

SAE FLANGE 6000 PSI

Fmits E=B=s BREHOSE BORE R < DIMENSIONS
PART NO. FLANGE NO. 2fRAHE DN 55 DASH A D L
1 87613-16-16 1" 25 16 59.4|47.6 |9.53
2 87613-20-20 1.1/4" 32 20 69.8| 54 |10.3
3 87613-24-20 1.1/2" 32 20 78.8 1635 126
4 87613-24-24 1.1/2" 38 24 78.7 1635 [12.6
5 87613-32-24 2" 38 24 91.2 794 |12.6
6 87613-32-32 2" 51 32 91 [79.4 |12.6
T RPRSBATAENLESERE.
NOTE:No. in table match with six spiral hose in super high pressure.

Ningbo AKJia Hydraulic Co.,Ltd.
www.akjia.com



AKJIR HYDRFILILIC

EresiEsl HOSE FITTING K.JI

A

W/ ///////%mw 87643
{ o — I

L 87643 45° SAE FLANGE 6000 PSI

45° SAE %% 6000 PSI

EEre g I=] EEHOSE BORE R <t DIMENSIONS
PART NO. FLANGE NO. 2f5MfZ DN #5755 DASH A H D
1 87643-16-16 1" 25 16 97 |34.2|47.6 |9.53
2 87643-20-20 1.1/4" 32 20 117 | 415 | 54 |10.3
3 87643-24-20 1.1/2" 32 20 120 | 45.1 | 63.5 |12.6
4 87643-24-24 1.1/2" 38 24 131 | 48.2 | 63.5 |12.6
5 87643-32-24 2" 38 24 140 | 53.8 | 794 | 12.6
6 87643-32-32 2" 51 32 163 | 619|794 |12.6
T FPASAT A ENLESERE.
NOTE:No. in table match with six spiral hose in super high pressure.

Ningbo AKJia Hydraulic Co.,Ltd.
www.akjia.com



AKJIR HYDRFILILIC

EresiEsl HOSE FITTING K.JI

87693

90° SAE %™ 6000 PSI

90° SAE FLANGE 6000 PSI

EEre g I=] EEHOSE BORE R <t DIMENSIONS
PART NO. FLANGE NO. 2f5MfZ DN #5755 DASH A H D
1 87693-16-16 1" 25 16 874 | 73 | 47.6 |9.53
2 87693-20-20 1.1/4" 32 20 106 | 89.5| 54 |10.3
3 87693-24-20 1.1/2" 32 20 106 | 94.5 | 63.5 |12.6
4 87693-24-24 1.1/2" 38 24 121 | 105 | 63.5 |12.6
5 87693-32-24 2" 38 24 121 | 113 | 794 | 126
6 87693-32-32 2" 51 32 150 | 136 | 794 | 12.6
T FPASAT A ENLESERE.
NOTE:No. in table match with six spiral hose in super high pressure.

Ningbo AKJia Hydraulic Co.,Ltd.
www.akjia.com



AKJIA HYDRAULIC
thesizsl HOSE FITTING |éK.J|é|

~ P87341

— Q0 45° SAE %% 3000 PSI

¢ it 2002105 5 £ 15

RS Eeme BXEHOSE BORE R < DIMENSIONS
PART NO. FLANGE NO. 2¥R/%Z DN 1S DASH A H »)
1 P87341-32-40 2" 64 40 100 [ 48.5|71.4 |9.53
2 P87341-40-40 2.1/2" 64 40 94 | 41 84 19.53
3 P87341-48-40 3" 64 40 95 | 43 | 102 |9.53
4 P87341-48-48 3" 76 48 109 | 46 | 102 |9.53
5 P87341-56-56 3.1/2" 90 56 129 | 51 | 114 |11.3
6 P87341-64-64 4" 102 64 135 | 55 | 127 |11.3
| P87391
|
T 90° SAE = 3000 PSI
g i 5002 10 2 51 £ 4
* C
~misS E=BS BEHOSE BORE R > DIMENSIONS
PART NO. FLANGE NO. 2#RA1Z DN #55 DASH A H D
1 P87391-32-40 2" 64 40 92 (105|714 |9.53
2 P87391-40-40 2.1/2" 64 40 98 | 104 | 84 |9.53
3 P87391-48-40 3" 64 40 98 | 106 | 102 |9.53
4 P87391-48-48 3" 76 48 118 | 120 | 102 | 9.53
5 P87391-56-56 3.1/2" 90 56 144 | 140 | 114 |[11.3
6 P87391-64-64 4" 102 64 161 | 163 | 127 | 11.3

Ningbo AKJia Hydraulic Co.,Ltd.
www.akjia.com



AKJIA HYDRAULIC
thesizsl HOSE FITTING |éK.J|é|

C FL

% /%ED: SAE J518%} JI % == 5% 3000 PSI

SAE J518 SPLIT FLANGE CLAMPS 3000 PSI

Fs Fafts E=BS R < DIMENSIONS 1242 Of:E
SN PART NO. FLANGE SIZE A B C D BOLT O-RING
1 FL-08 1/2" 53.8 | 46.1 | 38.1 9 17.5 | M8X25 |18.64x3.53
2 FL-12 3/4" 65 | 524 | 476 11 | 22.2 | M10X30 |24.99x3.53
3 FL-16 1" 69.9 | 58.7 | 524 11 | 26.2 | M10X30 |32.92x3.53
4 FL-20 1.1/4" 79.2 | 73 58.7 11 | 30.2 | M10X30 |37.69x3.53
5 FL-24 1.1/2" 93.7 | 82.6 | 69.9 |13.5| 35.7 | M12X35 |47.22x3.53
6 FL-32 2" 101.6 | 96.8 | 77.8 |13.5| 429 | M12X35 |56.74x3.53
7 FL-40 2.1/4" 114 | 109 | 889 |13.5| 50.8 | M12X40 [69.44x3.53
8 FL-48 3" 135 | 131 |106.38 | 17 |61.93 | M16X50 [85.32x3.53
A
C
FS
e %\\
\y 1
= /’%ET SAE J518X} Ji% == 3% 6000 PSI

%é SAE J518 SPLIT FLANGE CLAMPS 6000 PS
FS FaS E=BS R < DIMENSIONS 122 O ENFR
SN PART NO. FLANGE SIZE A B C D BOLT O-RING Mpa
1 FS-08 1/2" 56.3 | 49.2 | 405 | 9 |18.2 | M8X30 [18.64x3.53| 42
2 FS-12 3/4" 714 | 61.8 | 50.8 | 11 | 23.8 | M10X35|24.99x3.53| 42
3 FS-16 1" 81 |714 |57.2| 13 | 27.8 | M12X45|32.92x3.53| 42
4 FS-20 1.1/4" 953 [ 79.2 | 66.7 | 15 | 31.8 | M14X50|37.69x3.53| 42
5 FS-24 1.1/2" 1128 1 96.8 | 79.4 | 17 | 36.6 | M16X55|47.22x3.53| 42
6 FS-32 2" 1334 | 116 | 96.8 | 21 | 44.4 | M20X70 |56.74x3.53 | 42

Ningbo AKJia Hydraulic Co.,Ltd.
www.akjia.com



	1: Catalogu
	2: 10411Y
	3: 10511Y
	4: 12611AY
	5: 13011Y-SP
	6: 14211Y
	7: 15611Y
	8: 16711Y
	9: 20111Y
	10: 20191Y
	11: 20211Y
	12: 20241Y
	13: 20291Y
	14: 20411Y
	15: 20441Y
	16: 20491Y
	17: 20511Y
	18: 20541Y
	19: 20591Y
	20: 20711Y
	21: 20741Y
	22: 20791Y
	23: 22611Y
	24: 22641Y
	25: 22691Y
	26: 22611DY-SM
	27: 24211Y
	28: 24241Y
	29: 24291Y
	30: 24211DY-SM
	31: 26711Y
	32: 26741Y
	33: 26791Y
	34: 26711DY-SM
	35: 28611Y
	36: 29611Y
	37: 87311Y
	38: 87341Y
	39: 87391Y
	40: 87611Y
	41: 87641Y
	42: 87691Y
	43: 87613Y
	44: 87643Y
	45: 87693Y
	46: 00110
	47: 03310
	48: 01200A
	49: 01200
	50: 00400/00401
	51: 00400D - 00621
	52: 01400
	53: 10411
	54: 10511
	55: 13011-SP
	56: 14211
	57: 12611A
	58: 15611
	59: 16711
	60: 20111
	61: 20191
	62: 20211
	63: 20241
	64: 20291
	65: 20411
	66: 20441
	67: 20491
	68: 20511
	69: 20541
	70: 20591
	71: 20711
	72: 20741
	73: 20791
	74: 22611
	75: 22641
	76: 22691
	77: 22611D-SM
	78: 24211
	79: 24241
	80: 24291
	81: 24211D-SM
	82: 26711
	83: 26741
	84: 26791
	85: 26711D-SM
	86: 28611
	87: 29611
	88: 87311
	89: 87341
	90: 87391
	91: 87611
	92: 87641
	93: 87691
	94: 87613
	95: 87643
	96: 87693
	97: P87341 - P87391
	98: FL - FS



